SERIES AND SIGMA NOTATION (2)

1 Write expansions of the series defined by the following:

@ Yk ® Y © 3ek-1 (@ D kk+1)

k=1 r=0 k=1 k=1

© 2" ® Zl (@ f_:(lk«-l)2 (h) im-z)
e}z_r;L X+ 2+ 328 +4x"+59c‘+6 xf+3t +8%°

) 5o (38-2)= l+4+F 410+ F Bn-2)+ (30 +1)
R=1

2 Indicate whether each statement below is a correct or an incorrect expression for 1 + x4 X" + .
@ x" (b) Zx >< @ an—l (d) Z n—1 )<
n=0 n=l n=l
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SERIES AND SIGMA NOTATION (Z)

3 Use sigma notation to represent each of the following:

(@ 1’'+2°+3+...+9 (b) 1x342x4+43x5+...+10x12 (€ 1+6+11+... +(5p=4)

9
Q) |4+ )2+ 3%H 9 > R’

10
J>) l)<3)+ Ixh +3xS5+-.-+ 10 x |2_=Z__"L(ﬂ+2_)

n=1

P

n= 1|

m @ 2>l<3"3>1<4*nl<5*-“"p(,,1“) @ 2 +3 +ax'+ 41227 () a+ar+ar+ . +ar
| p

) 1+ L+ L+t =2 _i
Ixy x4 4x5 yo{pﬂ n=2 n(n+l)
n

s
Y Jat+ 3o+ i+t 222 2 nXx

n=2
n-I
f) aar+ari oo tarl a [H“F*r”f--'* )
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SERIES AND SIGMA NOTATION (%)

4 Evaluate: (a) in: (b) i(?.n«fl) (c) i(3k-2) (d) iz’

“/Z_n-l+1+3 + 4*

——

L/Z_[Znﬂ _B3F5+F A9+ 0 +H 13
= 48

I ZL(SLZ): |+ (6-2)+ (1-2) F(12-2)
_ - |+ 4 + + + 10 = A

2 3 9
) st 22+l +2—6
|

Z+L;+8+
_ 30

|
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SERIES AND SIGMA NOTATION (2)

() i"l ® iﬂ"-l) @ 2“,("”") () 26:(12-311) 0) }:r'
n=0 =l n=l r=l

2 2 "
92{__&1=Oz+11+2_ + 3>+ 4L+ S5

o + 1 + #11 £ 16 + 252055

—
e

n=0

2 L (3*+3) (43+4)
: ’ 200) + (3*+3)

n+n) = (| +l)+(2.+z)

: n:|( , + 6 + 1L +20= 40

__,__..—-———-:

}1) Zi——— [’Z-—BV\) :{[Z—ﬁx]) ‘I“(,Z*.SXZ) +/IZ—3K3>
‘ +(,Z ~-3X 4) + [12—5x5)+(l2—3x6)
g 4+ 6 +3+0 b (3 + (-6)

= 9
) 2—4_—’“: AR
- D4 b4+ 2+ 2156

n-=

¥

/_—.:

=288
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